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Pre Calculus

Trigonometric Ratios with ldentities

Funetions of the Sum of Two Angles

saifd + By=sin A cos B+cos 4sin B
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Fustetions of the Double Angle
sie 240 = 2 sin A cos o
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Functions of the Hall Angle
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1[.If sin4 = and 4 is an angle in quadrant I, find the value of cos2A4.
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2. If cos = %,and 0<x< —-27E-, find the value of cos260.
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3. Ifsinx m%, and 5 <X <, find the value of sin 2x.
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4. Tf sinB <0 and tan B = -, find the valuc of tan 2B, ¢

— B ¥
JanQB= L _;f 7

038> (2] 19 "-‘-;71{

e lo
g
-(qF
.
3
I q 4
@ or-im $3=3

5. Ifsmé-—i— and cos& <0, find sin— 9
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7. Ifsmgm——- and 7r<9<— find tan— 9 fl,g %""
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8. If cch—— and cosé <0, ﬁnd Cos— 6’
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9. Ifsind == and cosB = i, and angles 4 and B are positive acute angles, find cos(4 — B)
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10. If angle A terminates in quadrant I with cos 4 = % and angle B terminates in quadrant 11

with tan B = T’ find the value of sin(4 + B).
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11 I tanx = —% and cosy = Tr and x terminates in quadrant IT and y terminates in
quadrant IV, find the value of;l tarix ¥)- Jl'“ A X 3) ‘*I@) X“‘,‘@")j “,'_'_’:_,_
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12. If:"zl <A <mn withsind = 275 and 32n < B <2n with sinB = —% find the value of
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